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1. Uselogarithimto evauate ,\«Q’
(6.79 x 0.3911)3’4 & (4mks)
log5 é\\
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2. Make sthe subject of theformulae (3mks)

s2+q
a = pz
3. A stoneisthrown verticaly upwardsfrom point O. After t secondsthe stoneiss metres from

O. Giventhat s=29.4t - 4.9t find the maximum height reached by the stone. (3mks)
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A pair of corresponding sides of two similar i{(&gl esarebcmand 8cmlong.
@ find theArea Scal e Factor QQ? (Imk)
@
W
&
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(b) If thelarger triéyqybl ehasan areaof 256¢cn?, what istheareaof thesmaller triangle? (2mks)
A\
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N\ Q(a.
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Expressasasurd and simplify. (3mks)
1+ cos30°
1 — sin60°
cos?0 + sin*@
Show that: — co0s%0 = (3mks)

sin%@ sin%@
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7. Thesimpleinterest on agiven sum of monqdégrrowed for dyearsat 10% p.aexceedsthe
simpleinterest on the same sum borroweg;zll yearsat 12% p.aby Ksh. 12,960. What was

the sum of money borrowed? (o®
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8. Giventhat sin (x + 60)° = cos (2x)° find tan (x + 60)°

9. The massof people during aclinic session wererecorded as shown in thetable bel ow.
Masskg) 40-44 | 45-49 | 50-54 | 55-59 | 60-64 | 65-69 | 70-74
No. of 1 2 12 10 2 2 1
people

Calculatethemean mass.
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10.  Solveforx (Log,x)*+ Log,8=Logx* \Q’O
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11, &6‘?’ Usematrix method to solve
X+y=7

N 5x+2y=12
$ sy
\
QO

12. (3@ Solvetheinequality 2x - 5>-11 and 3 + 2x < 13, giving your answer asacombined

inequality.
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(b) Listtheintegral valuesof x that sﬁis‘\ﬁﬁ% combinedinequdity in (a) above. (Imk)
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13.  Theimageof a@l{ﬁtA, under thetransformation represented by the matrix
T= [1 —HﬁsA'l(-ZA)
0 .2

0] Q/leend the coordinates of A (8mks)
&
2
&
s
&
14. (3@ Expand and simplify (2 - x)° (2mks)

(b) Usethefirst 4 termsof the expansionin part (a) aboveto find the approximate value
of (1.8)°to 2 decimal places. (2mks)
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15. Five people can build 3 hutsin 21 days. Fi nd@h% number of people, working at the
sameratethat will build 6 smilar hutsin lga”ays
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@\16. Theequation of acircleisgivenby 4x?+4y?-8x +2y-7=0
< Determinethe coordinates of the centre of thecircle.
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17.  (a) Completethetablebelow gi ,\(N’fg your value correct to 2 decimal place. (2mks)
A
X 0| 30 | 603 90 | 120|150 | 180 | 210 | 240 |270 | 300 |330 |360
Snx  [0.00 0.5(1,;,\\ 1.00 0.50 | 0.00 | -0.50 -0.87 0.00
Cos?/.x | 1.00 . S 077 0.17 -0.50 -0.94(-1.00 -0.77 |-0.50
AN
Q'&‘Q@
(b) Oéqthe grid provided, draw thegraphsof y = sinx®andy =% x° for 0° < x < 360° (5mks)
N
<
&
2
&
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N
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(© Usethegraphto;
(i) solvethe equation sinx® - cos?/ x°=0 (2mks)

(ii) Determinetherange of valuesfor which sinx° < cos% x°for thedomain
0°< x < 360° (Imk)
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18. (3

(b)

Usingaruler and apair of com ly construct triangleABC inwhich
AB =6cm, BC =5.5cm and angbé}l\ BC =60°. MeasureAC.
2

Onthesamesideof AB asC.
(i) determinethelocus of apoint p such that angleAPB = 6(°.

(i) Construct thelocusof R suchthat AR = 3cm

(iii) Identify theregion T suchthat AR > 3cmand ZAPB > 60° by shading
the unwanted part.

(iv) Determinepoint Q such that areaof AQB ishalf theareaof ABC and that
ZAQB = 60°.
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19. A sequenceisformed by adding correspondi@%erms of anAPand GP. Thefirgt, second
and third termsof the sequenceformed ar@4, 34 and 78 respectively. Given that the

commonratio of the GPis3; 2
® Find thefirst term of theA @éﬁd GPandthecommon differenceof theAP. (2mks)
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eﬁb Find the sixthterm and the sum of thefirst six termsof the sequence. (3mks)
&
2
N
\\

(b) The second and third terms of ageometric progression are 24 and 12(x + 1) respectively.
Find thewholenumber value of x and hencethefirst term giventhe sum of thefirst three
termsof the progressionis 76. (5mks)
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20. Incometax rate are as shown below.
Income (kf p.a) 2
1- 4200 28
4201 - 8000 o
8001 - 12600 @
12601 - 16800 §
16801 and above

o

Omari pays Sh. 4000 asPA.Y.E per month. He hasamonthly house alowance of Ksh. 10800
andisentitled tgxﬁpersonal relief of Ksh. 1,100 per month. Determine;

Rate (Ksh per £)

~NOo o1 wiN

0) hisgsgsstax p.ainKsh (2mks)
o}'
Al
&
2
&
2
N
QO& (ii) histaxableincomeinkf p.a (4mks)
(iii) hisbasicsdaryinKsh. p.m (2mks)

(iv)  hisnetsdary per month (2mks)
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21.  Thediagram below showsasketch of thelj\m§§ =3x andthecurvey =4 - x2intersecting
at point Pand Q. QQ’%
_ 2
y axis él_c? y = 3x
2
\
SR\

X axis

(4mks)

(b) Giventhat QN isperpendicular tothex-axisa N, caculate
(i) the areabounded by the curvey =4 - x2, thex-axisand line QN. (2mks)
(ii) theareaof the shaded regionthat liesbelow thex - axis (2mks)

(i)  theareaof theregion enclosed by thecurvey =4-x?, theliney =3x and
they-axis (2mks)
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22.  Thefigure below shows points on the earth\’@’ﬁrface.
S
30°W/ 30°E QQ’Q%

(2mks)

(b) Anaircraft fliesfromA to B along latitude 40°N, B to C, d ong longitude 30°E, C
to D adong latitude 40°S. Cal culateto 4 s.f thetotd distanceit covered.
(Takeradiusof theearth = 6371km, n = 3.142) (5mks)
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(© If theaircraft leavesA at 8.00am q@aeed of 720km/hto B. At what local timeis
it expectedat B?
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23. Below isasquare based pyrami ndABCD\\/Q’ﬁ?thAB =BC=6cmand height VO=10cm.

(Imk)
(b) Find thelength of VA. (3mks)
(© Find the angle between VA and the planeABCD (3mks)

(d) Theangle between planeVDC and ABCD (3mks)
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24, Inachemistry form 4 classin Jaribu high sctq@gl !/ ,of theclassaregirlsand therest are boys.
“/, of theboysand °/  of thegirlsare right handed while the rest are left handed. The
probability that aright-handed stud reaksaconical flask inany practical sessionis?
and the corresponding probabil itgi-fbr aleft handed studentis*/, . The probabilitiesare

indepedent of the students sex, <%

@ Represent the daoz&khformation onatreediagram. (2mks)
N
e
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QQ}%
N\ Q(a'
2
Q/Q
&
Ke‘?’ (b) Determinethe probability that astudent chosen at random from the classisleft handed
QJ{‘ and does not break aconical flask insimplest form. (2mks)
N
\\
<
QO
(© Determinethe probability that theflask isbroken in any Chemistry practica sessonin
smplestform. (3mks)
(d) Determinethe probability that aconicd flask isbroken by aright handed student in
smplestform. (3mks)
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